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: (1) Question No. 1 is compulsory. g g g s
(2) Answer any three from the remaining five questions. e M E gkté | g ..
(3) Assume suitable data if necessary and justify the same. e o e

(4) Figures to the right indicate the marks.

1 Answer any four. [20]
(a) Using nodal analysis, find voltages Vi and V. (refer f' g 1) Sy i 0 Jbe LRSS

(b) List out the properties of a tree 2 o J
(c) Using Laplace transform, obtaln the expressmn f@r current in'a serles RC clrcmt when
~ aunit ramp signal is applied,: ;77 PR NG L
(d) Derive the condition for- recxproclty m transmlssmn parameters :
(e) Find poles and zeros of the 1mpedance of the followmg network and p]ot them on the
s-plane. (refer fig2) 8 s T

Caf—;ﬁa) ,

25 (a) Us:n g Thevemn s theorem, ﬁnd the current in the 10Q resistor. (refer fig 3) [8]
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b+ :_'_‘?er the netwmk showm m fgure steady

| tg)

(a) Us ﬁg dlﬁ"erentzal method derive the expression for current in a series RL circuit. [6]
Draw its Chﬂ[‘&Ct@l‘lSthb and define time constant.

'\n‘
3 '(b) Mentmn the restrictmns on pole and zero locations for driving - point functions.
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(b) For the graph shown, write the tieset matrix and f-cutset matrlx (refer ﬁg 4) a2
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3]
[5]

state is reached with the switch closed. The [10]
T;'.SWItCh 15 Opened at t =. 0 Obthm expresulons for iL(t) and v(t). (refer fi ig 7)

[4]
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The network shown in figure has acquired steady State at t < (} W1th the sw1tch closed

he switch is opened at t = 0. Determine: v(t) (refer f ig 9) f‘-;‘? '._-;j:j‘?= O “

T |
— =

“ind the short circuit parameters fof the 1_1_-;3Lw'drk shown. (refer fig 11)
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2t 15 pole — zero diagram and hence obtain v(t) using graphical method.

% ok sk A ok ok sk ok ok
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